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qrgaehd (Curriculum)
ENGLISH

1. Parts of Speech (Noun, Pronoun, Adjective, VVerb, Adverb,
Preposition, Conjunction)

2 Articles 3. Punctuation

4. Use of primary and modal auxiliaries 5. Passive voice

6. Direct and Indirect speech.

7. Change the sentences (Affirmative, Negative, Interrogative).

8. Rearrangement of words

9. Tofill up correct forms of Verbs.

10. Translation from Hindi to English & English to Hindi.

11. Synonyms, Antonyms, Homophones.

12. Unseen Passage/Comprehension

13. Letter Writing - Letter to father, brother or friend.
Application - To The Principal for leave or fee concession,

Change of subject or section etc-

14. Essay Writing (100 words) - Based on provided subjects:

Visit, Match, Place, Building, Book and Scene etc.

MATHEMATICS

STETITTA (Arithmatic): 7 3T F79a (Square and square root), ¥
3R ¥°9@ (Cube and Cube Roots), #3fafd (Mensuration), TifErst
(Statistics), el =1 9= (Management of data), =Idish &1 =4
(Exponents and Powers), SfasTaal & 19 2R =gl =
Applications of percentage & Compound Interest) |

HrerTroTa (Algebra): TF =1 a1t (@ eIV (Linear equations in
one variable), &= TaAHEHME (Algebric Identities), sia =isih
(Algebraic expressions), @@ TR0 9 2nenfiE TaraEt w9 (Word
problems based on linear equations), &S (Factors) |

gfgerter w99 (Mental ability) |

SCIENCE

e AR 39 A11% (Carbon and its compounds), SITqU U& 39 T
(Metals and their properties), T ffiia =gt (Man made objects),
e AA TE (Force and Pressure), WhTel 3 W9 I (Light and
optical instruments), g&w Sfiai ®1 gfaf (World of living organisms),
ferga s (Electric current), SfteA &1 ufsamd (Life processes), Wi
[EgE] &1 TIEW (Conservation of natural resources), Ff Ugfaal
Td I (Agricultural Practices and Instruments), faga wm &
TEAE 99| (Chemical effects of electric current), =& & 10
(Properties of magnet), Sifai # 9 (Reproduction in animals), =T
(sound) |

TIME: 1:00 Hr. ENGLISH MODEL PAPER-1 M.M.: 50

Note: 1. All questions are compulsory.
2. Marks have been given against each question.
1. Read the passage carefully and answer the questions that follow: 5

Socrates was frank and fearless. His outspoken remarks
annoyed a number of people. He pricked the pride of many and
hurt the vanity of more. He told those who claimed to be wise
and learned that they were cruel and ignorant. His free and frank
talk made many enemies against him. Some considered him as
a crazy person who could stand for a day & night lost in his own
thoughts. When he said that he had heard voices and seen
visions, they mistook him for a mad man. In a drama by
Aristophanes, 'The Clouds', he has been shown as a half-crazy
old man who corrupts young men of the town. But there were
many people who admired him and followed him as his disciples
in search of truth & wisdom. Among them was Pluto, the great
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philosopher, who has revealed the living Socrates in his
dialogues.

a) Why was Socrates unpopular in his life time?

b) What did Socrates tell the wise people?

c) Why did Socrates make many enemies?

d) What did some people consider about Socrates?

e) Who was Pluto?

. Change the following sentences into passive and indirect: 4

a) He writes a letter. (Passive)
b) |saw a lovely bird. (Passive)
¢) He said, "Man is mortal." (Indirect)

d) He said to me, "What are you doing? (Indirect)

3. What is an Adjective? Write definition with example. 1

. Fill the correct prepositions in the given blanks: 5

a) Putit .....the table.

b) 1 will meet you the bus stop.

c) She gets early in the mormning.

d) Divide the money ......... Ram and Shyam.
e) He is afraid me.

. Change the following sentences as given: 5
a) He does not go to school.  (Affirmative)
b) He teaches me English. (Interrogative)
¢) She has done her work. (Past perfect)
d) Does he walk? (Negative)
e) | have a car. (Negative)

. Re-arrange the following words to make a meaningful sentence: 5
(a) the / please / not/ do / on / grass / step.

(b) was / performance / impressed / with / quite /his / I.

(c) neck / feathers / covered / is / lovely / its / with.

3

10.

11;

12.

(d) people / look at/tend to / you look / the way / yourself / at /you.
(e) protection / our / we / must / helmets / own / wear / for.

Wirite the degrees of the following adjectives: 3
(a) Beautiful ..........cc.u..... . (superlative)

(b) Great ......cccoeevervnennnn. . (comparative)

(€) Faest wuwwminmsy : (positive)

Write the plural form of the given words: 2
(a) Catch ......cccouueennn. (b) Wheel ................

(o3 Ml o, EEEERpRp (d) Phot® ..o
Translate in to English: 5
(a) | e faoet o

(b) TH 3T =T HAM
(c) PR qH HeTa HUT 9 TR B SN |

(d) A feeelt # 2010 A @ W E

(e) 71& Tg feeehl <t &1

Write correct helping verbs in the given blanks: 5
(@) We ......... help each other. (should, like, dare)
(b) We ............ not come yesterday. (do, did, is)

(c) She ...... cooking the food for two hours. (is, has been, was)
(d) She ........... to school daily. (go, goes, are)
(e} Raja ........... cheating him. (was, were, had)
Write an essay on any one of the following topics: 5

(a) A visit to a historical place

(b} My favourite book

(c) Ajourney in a crowded Bus.

Write a letter to your father requesting him to send some money

to buy a book. 5
Or

Write an application to your principal for full fee concession.
4



TIME: 1:00 Hr. ENGLISH MODEL PAPER-2 M.M.: 50

Note: 1. All questions are compulsory.

1.

2. Marks have been given against each question.

Read the passage carefully and answer the questions that

follow: 5
Crusoe could not swim well, because the waves were too

strong for him to sink into the water. For some time he did not

know where he was. But the waves carried him to the shore,

where he lay on the wet sand, almost dead. After a while he got

up and looked around for his friends. But all he saw were three

hats, a cup and two shoes floating on the water. Crusoe did not

know what to do, and he ran up and down the shore as if he was

mad. He was alone. He had nothing to eat and no fresh water to

drink. But suddenly a little stream coming down from hill caught

his eyes and he ran to it and found that it was fresh water. Taking

up the water in his hands, he drank it gladly because he was

very thirsty.

(a) Why was crusoe unable to swim?

(b) What did the waves do?

(c) What did crusoe see floating on the water?

(d) Why did crusoe run up and down the shore?

(e) How did crusce get fresh water?

2. What is preposition? Write definition with example. 1

3. Change the following sentences in to passive and indirect: 4

(a) | play cricket. (Passive)
(b) My mother is cooking the food. (Passive)
(c) He said to me, "l am playing." (Indirect)
(d) | said to him, "Please sit down.”  (Indirect)

5

. Change the following sentences as given:

(a) 1go there to study. (Indirect)

(b) He needs to work with his father. (Interrogative)
(c) He teaches me English. (Interrogative)
(d) My father works very hard. (Present perfect)

(e) 1do not speak abusive language. (Past indefinite)

. Fill the correct prepositions in the given blanks:

(a) He does not agree ............. my plan.

(b) Do notlaugh ............. Others,

(c) We should listen ............. our parents.

(d) Curdis made ............. milk.

(e) We should not throw garbage ............. rivers.

Re-arrange the following words to make a meaningful sentence:
(a) Has/my/some one/pen/taken/today

(b) We/not/parents/disobey/our/should

(c) goes/you/with/to/who/school

(d) Dogs/seldom/bite/never/barking

(e) Ian/shall/not/become/engineer

. Wirite the degrees of the following adjectives:

(@) bad icoai (comparative)
(b} best .....ceui G (positive)
(c) intelligent ............. (superlative)
. Write the plural form of the given words:
(a) Man........ (b) Louse i
(c) Life .......... (d) Tooth ............

. Translate into English:

(a) % FoT grd @ foem °@ni

(b) i weh w2 T A A fwweh
(c) I

(d) =W e AR < WA |

(e) ST 9 Fed HIA Al WA o ST |
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10!

1.

12.

TIME: 1:00 Hr.

Write correct helping verbs in the given blanks: 5
(a) She......... not lie to her parents. (do, does, is)
(b) Mohan ......... playing for two hours. (is, has been, was)
(c) |I........... not come yesterday. (do, did, is)
(d) We....... help each other. (like, should, dare)
(@Y | iaiszin suffering from cold since last day.

(had, has been, am, have been)
Write an essay on any one of the following topics: 5

(a) Cricket match
(b) A historical building
(c) My favourite book
Write a letter to your friend Rahul, inviting him to your brother's
marriage.
Or
Write an application to your principal for changing class-section,
also give reason to change the section.

SCIENCE MODEL PAPER-1 M.M.: 50

Note: 1. All questions are compulsory.

1.

2. Marks have been given against each question.

What is the unit of friction ? 1
] ST W A E 2

In which direction pressure acts with respect to surface? 1
TaE & wag I@ fH fewm § #r e g2

Name the non-metal that is in liquid form. 1
T s1eTg 1 W ferd S s sreen § wRl S # )

Write the full form of LED. 1
LED =1 forega & fafem |

10.
1.
12

13.

Write one example of abiotic components of ecosystem. 1
I % 35/ "2 o1 AR S |

Write one function of cone cells present in ratina. 1
(e H Iuftera vie HITeH #1 U FHE foE 1)

Write two uses of electro-magnet. 2
forega g = <1 v o |

Complete the following chemical equation: 2
=1 T JHiT 1 U Sifa:

CuSO,+Zn —» . s, gsissorisay

Write the unit of the follo\mng (ﬁ'ﬁl = T fad ) 2
(a) Amplitude (3EH): oo

(b) Frequency (M) : oveeunnee

Write the laws of Reflection. (e & f=m fawdi 1) 2
Write the two uses of friction. (=ev1 % 51 Iwdn ferd 1) 2
Fill in the blanks (f&a T 4fd): 3
(a) Yeastis used in the production of ................

I T ST oo = foaior & feran < 21
(b) Cholerais caused by ..............

&M & HRO B T

(C) The process of conversion of sugar into alcohol is called......
e fafy foad <1 uekiest A a_erdl § ... Fgeldt ¢ |
Write 'True' or 'False’ for following statements- 3
frfeafaa e & ame '9d’ @ ‘ag” fafee-
(a) Sound can not travel in vacuum.
A Frafa § =@ = vt
(b) For human being the audible range is 20 Hz to 20,000 Hz
7 & o %=1 wE 20 Hz § 20,000 Hz 7 21

(c) The loudness is determined by frequency.
Welerdl e & fuifa 26 7
8



14,

15.

16.

17.

18.

19.

Define the following: =1 =1 uftunfom =ifsm | 4
(a) Puberty (FEAE)

(b) Hormone (ZE)

Write the name of the gland related to hormone. 4
T | At ufe 1 W o |

(@) Thyroxine ( ATfERT)

(b) Insulin (3gfe)
(¢) Growth hormone (3f& BTiT)

(d) Testosterone (ZW=r2A)

Name the metal present in following- 4
o= sufeem og =61 T foi-

(a) Magnesium oxide (FifeTm wfFTES)

(b) Calcium sulphide (FfexrM TeFEeT)

(c) Sodium iodide (Fifeam 3EEES)

(d) Potassium chloride (dIferEm FiiuEe)

Define the following (=1 =1 uftsfo =L 1) 4
(a) Ignition temperature (== @M9)

(b) Spontaneous combustion (T T&4)

Write the chemical formula of the following- 4
=1 =1 T g3 fasi-

(a) Water (1)

(b) Carbon dioxide (e =& FES)

(c) Nitric acid (FEfes tfazg)

(d)  Aluminium oxide (TEfEfT=H HAFEES)

In which type of cells, these parts are present in plant cell or
animal cell or both cells, 4

Frefafaa v % o Fifvr 5 93 S F - a5y HIEe H 1S
Fiferrt § = SF 7 |
(@) Nucleus (F5F)
(b) Plastids (¥1%)
(c) Cytoplasm (=¥ 54)
(d) Chromosomes (TUTE)
20. Write two uses of each. Ui & 2131 3UarT ferd | 4
(a) Concave mirror ( 37&der gU)
(b) Convex mirror (39 g4)

TIME: 1:00 Hr. SCIENCE MODEL PAPER-2 M.M.: 50

Note: 1. All questions are compulsory.
2. Marks have been given against each question.

1. In which directions friction acts? 1
we forw feom & =l e ®)

2. Write the unit of pressure. 1
2@ Fl A fara |

3. Name the non-metal used in pencil. 1
Hfiger # ferr S1eg 61 SHE T S )

4. What is the full form of PCRA? 1
PCRA 1 fawgd &9 foifEaw |

5. Wirite the components of ecosystem. 1
Ifds & Hewhi & M fawd |

6. Wirite the function of cornea. 2
Fift 1 F ford |

7. How many poles have bar magnet? Write the name of these
poles. 2

og g H o ya a9 €2 1 & % am for)
10



8. Write the name of most malleable metal and also write the best
conductor of electricity. 2
Yol s sraraas Oig 1 9 forel o 39 uig %1 AW ford S
foregm =1 ge o1 = o)

9. Complete the following chemical equations: 2
(T Tmafaes wvdieTor 1 g Hifem) :
() HO+N& ¥ soooan ¥oussusum
(b) Mg+O = F ot

10. Define refractive index. ( &9 I gfafig 1) 2

11. Does pure water conduct electricity? If no, why pure water can

not conduct electricity? =1 I[& a1 | foapa =1 ware 2 &2 afg

&, @ Fii s 5o | fagy w1 yaw T da g 3
12. Name the mode of transmission of disease: 3
T e <1 mreay fafed )

(a) Malaria (W&fEm)
(b) Hepatitis (¥Iersfa)
(c) Typhoid (TEFAE)
13. Define the following: (aftsifad =ifsa 1) 3
(@) Force (¥)
(b} Pressure (29)
14. Write 'True' or 'False' for following statements: 3
frefefad 9= % fou ‘adt’ = e’ ford-
(@) Fossil fuels can be made in the laboratory. ( )
s $e wErTITen § ST S SR 2
(b} CNG is more polluting than petrol. ( )
Hrewsit Teret § Afas yguuRl §
(c) Kerosene is a fossil fuel. ( )

FAH Srevy A #)
11

15. Name the artificial fibre which is used to make- 3
T4 ffifa 1 = m fad st fa & Fmaio 3 swEm v s &
(a) Toothe brush (T4 921)

(b) Artificial silk (T fftfq faeer)
(c) Blanket (%)

16. Name the metals present in following compounds. 4
et it & Sufterd erg &1 g ford |
(a) Calcium hydroxide (FHfevrm aEgFaEs)
(b) Sodium oxide (Hifeam HfwmES)
(c) Gypsum (fomm)
(d) Zinc sulphate (fsi% @e®e)
17. Define the following (=1 =1 afsfad &1 1): 4
(a) Wildlife sanctuary (=1 Siial 1R0)
(b) Endemic species (fa9y &sit gsifa)
18. Write the chemical formula of the following: 4
e =1 werafies g3 Tl
(@) Zinc oxide (f5i% sffemss)
(b)  Aluminium hydroxide (Tgjfufa4 eEgRES)
(c) Potassium oxide (dRf¥raw sfiFEe)
(d) Hydrochloric acid (ETEEETH 377T)

19. Write the 4R habits which are environment friendly. 4
4R el & AW ferd S amarer & fad #siol 2

20. In which types of cells, these parts are present in plant cell or in
animal cell or in both cells. 4
Frefefaa wm FF-5t #ife § o S - mew S § W s
Shifereet J @1 A1 T |
(@) Cell membrane (=¥ féreet)

(b) Cell wall (ziferet fusit)
(c) Plastids (8@ @& )
(d) Vacuole (fifare)

12



TIME: 1:00 Hr. MATHEMATICS MODEL PAPER-1 M.M.: 50

Note: 1.All questions are compulsory. Each questoin is of 5 marks.
2. It is necessary to show all steps of calculations.

1. Fill in the blanks: (=R T4 wfiw):
(@) The reciprocal of -5 (-5 =T TqwhH)
(b) The multiplicative inverse of -5 (-5 T U qfdei™)
(c) Total surface area of cylinder (S &1 el I &5thel)
=2n__(r+_)
(d) Find the square root of 361. (361 =1 =¥l TG =TT 1)
(e) Find the cube root of 1331. (1331 =1 =5 A HIT 1)
2. (a) Find the product (TTTM%E T HIfST): —4px 7pq
(b) Study the pattern and find the next number:
Yot 1 1A H ST ST T A B
1,4,9,16,7?
(c) Write the cube of 0.1 (0.1 =1 ¥H fafEw))

-2
(d) Find the value : (W FTd SiTsT) G)

(e) Add. (sif=): p (p—q), q(g—r) and r(r—p)

3. Find the area of arhombus whose side is 6 cm and whose altitude

is 4 cm. If one of its diagonal is 8 cm long. Find the length of the
other diagonal.
TES 1 SAEE F9 e | ST oo 6 Tt 3 i 4
i 71 Afe ue fomol %1 orard 8 i & @ g fowol =t @ wa
EQiEd

4. Factorise ((FEIE FIfST): x4 — (y+z)*

5. Find Compound interest on ¥ 12600 for 2 years at 10% per annum

compounded annually.
13

(% 12600 W 2 Y & fou 10% 1 =1fiw < q FHgfg =0 A6
ifeIT 1)

6. The present age of father is four times the age of his son. After
10 years, age of father will become three times the age of his

son. Find their present ages.

foran %1 IAE 21 S9& TF H A B AR IE 110 F6 9% fHm
T A AT TH HT 3G FT T T B SO | TR I A T\
iy |

1 2 1
7. IfX—;:B,thenﬁndthevalueofx . L

1 1
7fe x-—;=6 & x3-x—3 =1 HA T1d HITET |

Xx+1 3
8. Solve the equation (FHFI & FITST): =338

9. Find the cube root of 13824 by prime factorisation method.
Fvg e faft g1 13824 &1 e G FHifSu )
10. The lateral surface area of a hollow cylinder is 4224 cm?. It is cut

along its height and formed a rectangular sheet of width 33 cm.

Find the perimeter of rectangular sheet?
TF GIER 96 1 aHT=d AR 4224 T GH ¥ T TR

FHIR % AT HIEHL 33 FHI. FISE Bl Th IFAHT TG 915
ST & | HEARER 95T 1 9ET A S |
TIME: 1:00 Hr. MATHEMATICS MODEL PAPER- 2 M.M.: 50
Note: 1.All questions are compulsory. Each questoin is of 5 marks.
2. Itis necessary to show all steps of calculations.
1. Fillin the blanks: (&R M wiw):
(a) Formula of lateral surface area of Cuboid = ...................
(b) Find the square root of 361. (361 %1 & FId hHifaT 1)
(c) Find the cube root of 723. (723 =T =75 1A HITC |)

14



(d) Fillin the blanks: (T oM witw):

1
Reciprocal of x where (x# 0} is ........

(e) Study the pattern and find the next number :
T2+ 1 1eTTA FE AR STTel T S e |
0,3,8,15,24, 7
. (a) Find the value (W T #IfSTT): (- 4) = (- 4
(b) Complete the formula of (I &1 I FITS): a®-b?=........
(¢c) Find x (x @1 99 F@ Hifsa); 2%-3=7
(d) Find the mean of first three odd numbers.
e i o S w1 e AT S Hiten |
(e) How many metres are there in 1 km.

e fRede § fpa e @9 ¥

. Find the side of a cube whose surface area is 600 cm?.

T TH T H] S A B fEe s SEe 600 om? ®

Simplify (&% Ff) _ B _y0)
- Simplly (3 F 5 x10xt ]
. What amount is to be repaid on a loan of ¥ 12000 for 1= years

2
at 10% per annum compounded half yearly.
s 7t o vt i G A 1o o e 10% e
R IR AT 71T 312000 = 9 1 YA 34 6 foe fwadt afe
SRR

. The ages of Hari and Harry are in the ratio 5:7. Four years from
now the ratio of their will be 3:4. Find their present ages.

T 3l ¥ @ aduE g ®1 9 527 ¥1 3T | 4 76 Aw Al
P T ATTA 3:4 B S | IAH] FAEE A T HHFAC |

15

. If 2x +i =8, then find the value of 8xX° +L3
2X 8x

o X4+ =8, Bx"+i3 1 T 4 Hife |
2 8x

. Solve the equation

HHTEHTU B HIfo | 5H%=§X—14

. Find the greatest 4-digit number which is a perfect square.

IR 37! I 9% Ferd 9] HEA FN i S ol o &

10. A closed cylindrical tank of radius 7 m and height 3 m is made

from a sheet of metal. How much sheet of metal is required?
(7 m 5= 3R 3 m ST AN UF 9% SOAER &6 fHdl HIg Hi
TF FRL H I e ¥ | 38 g & forg Aifea o1 &7 =l F 6
A i 1)

~0~0~0~
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